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The figures in the margin indicate full marks.

GROUP-A / Tein-5 / @ve-&

Answer any fwo questions 12x2 =24
=81 31 ueil & IR Y
- 717 &rad Ted e
T §ICT UHPT IR oI
Mr. M. Ghosh, a private sector employee, furnishes the following salary details 12

for the assessment year 2023-24. Compute his Gross Income from Salary for the
said assessment year under the Old Tax Regime:

Basic Pay 340,000 p.m.
Dearness allowance @ 20% of basic pay
Medical allowance @ 700 p.m.

Children Education Allowance @ I400 p.m. for each of his three children
(During the concerned previous year, his actual expenditure for the
education of the children was 311,220,000

Conveyance Allowance I800 p.m. to meet expenses of journey between
home and office plus 10,000 to discharge an official duty, in which his
actual conveyance expenditure amounted to 11,800

Puja bonus- 8,000

His employer provided him a residential accommodation (owned by the
employer) in Kolkata along with some furniture (owned by the employer)
costing ¥3,50,000.

Mr. A, resident individual, has two houses which are let out for residential 12
purpose. Particulars of these properties relating to the previous year 2022-23 are

given below. Find his Income from House Property for the Assessment Year

2023-24:
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House-I  House-II
Situated in Kolkata Siliguri
Rs. Rs.
Municipal Value 90,000 1,19,000
Fair Rent 1,08,000  1,06,000
Standard Rent 92,000 1,20,000
Unrealized rent 5,000 6,000
Expenses to collect rent Nil 2,000
Insurance premium of the houses 1,000 1,100
Interest on loan taken for repairing the property Nil 24,000
Municipal tax (including water tax @ 2%) 9% 7%
Vacancy period I month 2 months

Additional Information:

(i) House-I and House-II are let out @ Rs. 9,300 and Rs. 11,000 p.m.

respectively

(1) Municipal tax of House-I: It has been paid by the landlord. He also paid an
arrear tax of Rs. 4,000 relating to 2021-22

(i11)) Municipal Tax of House-II: Rs. 2,180 for the year 2022-23 is outstanding
Rs. 3,000 is paid by the occupier and the balance is paid by the owner.

The following is the Profit & Loss Account of a merchant for the year ending

31.03.2023:

Profit & Loss Account

To Office Salary

To Bad debt written off

To Provision for Bad Debts

To Advertisement

To Fire Insurance Premium (for
personal house property)

To General Expenses

To Depreciation

To Interest on Capital

To Interest on Bank Loan (Due)

To Net Profit

Rs.

2,06,500
1,700
3,000

53,800
550

52,750
1,200
2,000
1,300

1,22,500

4,45,300

By Gross Profit

By Commission

(in connection with a
consignment business)

By Discount
By Sundry Receipts
By rent of Building

By Profit on Sale of
Investment

Rs.
4,36,750
1,250

500
200
3,600
3,000

4,45,300

Compute the taxable profits from business of the merchant for the Assessment

Year 2023-24 considering that:

(1) Allowable amount of depreciation is Rs. 1,400
(i1) Opening stock for the year amounting Rs. 54,000 was undervalued by 10%.
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4. How would you determine the residential status of an individual under the 7+5
Income Tax Act? In this connection also explain the incidence of tax liability.

TR AT P Tt 317 ot gfeh ol arardty Rufr b1 FeRor & & 2 39
EY H PRI S T Y T N |

Income Tax Act S 9N FOIR @6 A& residential status foefiae a3 9 @2
SIS incidence of tax liability @ X T4

SITIERR U7 ST Ueb S Tche! SATARIRT iy st (aRr {876 2 -7 FFaeeMT ax

STRIcae! BT Ui SR T8I |

GROUP-B/ Reni-4/ @vs-g

5. Answer any four questions: 6x4 =24
feheel =¥ T8l T IR AT
-3 51Af6 &ted Ted wies
P+l FRECT THDT ST oI

(a) Give twelve examples of incomes which are totally exempt from income tax. 6

3T & QR 12 ISR AT ST 1Y %8 AR 3 qeh & |
ol e & TG Wi Tz wie |
STTIPRETC JUICTIT BT YT IR ATg ISTERUERd S8 |

(b) Mr. B. Sen purchased a residential house during the previous year 2001-02 for 6
Rs. 40 lakhs and sold it for Rs. 2 crores during the previous year 2022-23. He
purchased two houses worth Rs. 36 lakhs each on February 21, 2023. Calculate
taxable capital gain u/s 54 for the assessment year 2023-24.

(c) Write a short note on Deduction u/s 80C. 6
gRT 80C P T&d Peldt U= Ueb Al AT ford |

@36 7 FRE BIFet (#7198 “Deduction u/s 80C”
Section 80C 3T PIIHT BIET feeqult oeqa ] |

(d) How agricultural income is treated for income tax purpose? 6

TP b I I iV 37 BT AR by febaT ST & ?
SRR el PR ST IR [Reanel w11 27 2
SITIPR IeQIDT AT Py 7T BT ISR TR ?
(e) Write a short note on “set-off and carry forward of losses”. 6
“Set-off and carry forward of losses” TR Ua Aferd feoauft ford |
7R FrY TPl @148 “set-off and carry forward of losses” |
‘Set-off” ¥ ‘Carry forward of losses’ AT BIer fewufy ﬂﬂﬁ?{l

() WDV of block of Plant & Machinery on 01.04.2022 was 5,95,000. During the 6
year 2022-23 a new item costing Rs. 1,50,000 was acquired in May, 2022 and an
item was sold on 15.09.2022 for Rs. 79,000. Calculate the WDV of this block of
assets and calculate the depreciation @ 15% in relation to the assessment year
2023-24.
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GROUP-C / [qetl-ot / @us-T
Answer any four questions:
feb=g =Tv T4l T ITR &
- S5 2o Ted wies

P FIRGCT THDT IR I

What do you mean by the term “Previous Year”?

e o I W 3MTUHT AT AU & ?

“Previous Year” Ie100 9 & IR 9
Previous Year 9! & & ?

Calculate the taxable amount in connection with R.P.F if following is provided
by the assessee:

(1) Pay: @ Rs. 40,000 p.m., (ii)) Commission received by him on the basis of
turnover achieved by him: Rs. 1,36,000, (iii)) Employer’s contribution to R.P.F:
@ 13% of Salary, (iv) Interest (@ 12% p.a.) credited to R.P.F during the year:
Rs. 64,000.

What do you mean by a house property deemed to be let-out?
fepRTY OR &1 TRIT Fesit ST dTedt T8 Hufky & 3MuehT ear aread & 2

House property deemed to be let-out F1¢e Q¥ & (Al ¢

House property deemed to be let-out ¥=Tel & I8V ?

Differentiate between Short-term and Long-term Capital Gain.
3fcTehTicTes Ue SrefeTicTes Yot oI ob &fTef 3T=aR &N |

FEPIA 8 AL T 71 (Capital Gain)-&3 S #1975 foesid 71
TSI X &TEBTei YSIeT AT fereh] =TT ee]eId |

Give six examples of income falling under the category of Income from Other
Sources.

T QAT I T T A} & ST 37T dTotT 3T & BE ISTENT ¢ |
“Income from Other Sources”-<< SENS & (el b 6 SEa Twigge s |
3T ANHITC 3TRIDT AT U+ TIDT B T ISTeRUE [afele |

The Taxable Income of a resident individual (Aged: 52 years), for the previous
year 2022-23, is Rs. 17,53,589 (after allowing deductions u/s 80C).

Compute his Tax Liability for the assessment year 2023-24.

3x4=12



